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Question Id : 92090615592 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India's fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. I can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found gulty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090615593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the term ‘incognito’ is:

(1) Inclusive (2) Inaudible
(3) Undutiful (4) Concealed
Options :

92090661601. 1
92090661602. 2
92090661603. 3
92090661604. 4

Question Number : 2 Question Id : 92090615594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090661605. 1
92090661606. 2
92090661607. 3
92090661608. 4

Question Number : 3 Question Id : 92090615595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The antonym of ‘remission’ is:
(A) Exoneration

(By Censure

(C)  Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1)  (A)and (B)
(2)  (B)and (C)
(3)  (B)and (D)
(4) (D) only
Options :
92090661609. 1
92090661610. 2

92090661611. 3
92090661612. 4

Question Number : 4 Question Id : 92090615596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Going incognito’ means:

(A) Using false name
(BY Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2) (A), (B)and (C)

(3)  (A), (B), and (D)

(4) (A, (B), (C) and (D)

Options :

92090661613. 1
92090661614. 2
92090661615. 3
92090661616. 4



Question Number : 5 Question Id : 92090615597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India 1s ranked 161, behind nations such as Pakistan, Afganistan ete.
(3) Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090661617. 1
92090661618. 2
92090661619. 3
92090661620. 4

Question Id : 92090615592 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India’s fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. [ can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found guilty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090615593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the term ‘incognito’ 1s:

(1) Inclusive (2) Inaudible
(3)  Undutiful (1) Concealed



Options :

92090661601. 1
92090661602. 2
92090661603. 3
92090661604. 4

Question Number : 2 Question Id : 92090615594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090661605. 1
92090661606. 2
92090661607. 3
92090661608. 4

Question Number : 3 Question Id : 92090615595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘remission’ is:
(A) Exoneration
(B) Censure
(C) Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1) (A) and (B)
(2)  (B)and(C)
(3) (B)and (D)
(4) (D) only

Options :
92090661609. 1



92090661610. 2
92090661611. 3
92090661612 4

Question Number : 4 Question Id : 92090615596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘(zoing incognito’ means:

(A) Using false name
(B) Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2 (A), (B)and (C)

(3)  (A), (B), and (D)

(4)  (A), (B), (C) and (D)

Options :

92090661613. 1
92090661614. 2
92090661615. 3
92090661616. 4

Question Number : 5 Question Id : 92090615597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India is ranked 161, behind nations such as Pakistan, Afganistan ete.
(3)  Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090661617. 1
92090661618. 2
92090661619. 3



92090661620. 4

Sub-Section Number : 2
Sub-Section Id : 920906506
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090615598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word VINDICTIVE' is

(1) Revengeful (2) Bigoted
(3)  Demonstrative (4) Strategic
Options :

92090661621. 1
92090661622. 2
92090661623. 3
92090661624. 4

Question Number : 6 Question Id : 92090615598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word "VINDICTIVE' 1s

(1) Revengeful (2) Bigoted
(3) Demonstrative (4) Strategic
Options :

92090661621. 1
92090661622. 2
92090661623. 3
92090661624. 4

Question Number : 7 Question Id : 92090615599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city 1s slowly finding takers most of them college
students who would earlier depend cabs and bike taxis
commuting.

(1) in, upon, to (2) in, on, for

(3) in.off, for (4) on, with, on

Options :

92090661625. 1
92090661626. 2
92090661627. 3
92090661628. 4

Question Number : 7 Question Id : 92090615599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city is slowly finding takers most of them college
students who would earher depend cabs and hike taxis
commuting.

(1) in, upon, to (2) 1in, on, for

(3) in.off, for (4) on, with, on

Options :

92090661625. 1
92090661626. 2
92090661627. 3
92090661628. 4

Question Number : 8 Question Id : 92090615600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090661629. 1
92090661630. 2
92090661631. 3
92090661632. 4

Question Number : 8 Question Id : 92090615600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090661629. 1
92090661630. 2
92090661631. 3
92090661632. 4

Question Number : 9 Question Id : 92090615601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (40 BITUMINIZE
Options :

92090661633. 1
92090661634. 2
92090661635. 3
92090661636. 4



Question Number : 9 Question Id : 92090615601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (1) BITUMINIZE
Options :

92090661633. 1
92090661634. 2
92090661635. 3
92090661636. 4

Question Number : 10 Question Id : 92090615602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces 1s called:

(1) Agoraphobia (2) Anachronism
(3)  Anecdote (4) Apiary
Options :

92090661637. 1
92090661638. 2
92090661639. 3
92090661640. 4

Question Number : 10 Question Id : 92090615602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces is called:

(1) Agoraphobia (2) Anachronism
(3) Anecdote (4) Apiary
Options :

92090661637. 1
92090661638. 2
92090661639. 3
92090661640. 4



Question Number : 11 Question Id : 92090615603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 (4) 5
Options :

92090661641. 1
92090661642. 2
92090661643. 3
92090661644. 4

Question Number : 11 Question Id : 92090615603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 4 5
Options :

92090661641. 1
92090661642. 2
92090661643. 3
92090661644. 4

Question Number : 12 Question Id : 92090615604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of " +x* - x' —x" +x-1.

(1) 280 (2) 270
(3) 290 (4) 300
Options :

92090661645. 1
92090661646. 2



92090661647. 3
92090661648. 4

Question Number : 12 Question Id : 92090615604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of x" +x* - x* —x" +x-1.

(1) 280 2) 27
(3) 290 (4) 300
Options :

92090661645. 1
92090661646. 2
92090661647. 3
92090661648. 4

Question Number : 13 Question Id : 92090615605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50¢m respectively. Find
the side of the new cube formed by melting the three cubes (in em)

(1) 60 (2) 120
3) 90 (4) 80
Options :

92090661649. 1
92090661650. 2
92090661651. 3
92090661652. 4

Question Number : 13 Question Id : 92090615605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50em respectively. Find
the side of the new cube formed by melting the three cubes (in ¢m)

(1) 60 (2) 120
3) 90 (4) 80



Options :

92090661649. 1
92090661650. 2
92090661651. 3
92090661652. 4

Question Number : 14 Question Id : 92090615606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only ¥ 12,580. If the annual
rate of compound interest 1s 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090661653. 1
92090661654. 2
92090661655. 3
92090661656. 4

Question Number : 14 Question Id : 92090615606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only  12,580. [f the annual
rate of compound interest is 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090661653. 1
92090661654. 2
92090661655. 3
92090661656. 4

Question Number : 15 Question Id : 92090615607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 L =l
3 3
Options :

92090661657. 1
92090661658. 2
92090661659. 3
92090661660. 4

Question Number : 15 Question Id : 92090615607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 & — %0
3 3
Options :

92090661657. 1
92090661658. 2
92090661659. 3
92090661660. 4

Question Number : 16 Question Id : 92090615608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5, 22 57, 1186,
(1) 216 (2) 205
(3) 207 (4) 192
Options :
92090661661.
92090661662.

92090661663.
92090661664.

AW N =



Question Number : 16 Question Id : 92090615608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5,22 57 118,
(1) 216 (2) 205
(3 207 (4) 192
Options :
92090661661.
92090661662.

92090661663.
92090661664.

AW NN~

Question Number : 17 Question Id : 92090615609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

{(A) Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C)  Diseases, Leprosy, Scurvy
(D) Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1)  (A) and(B) only
(2) (B) and (D) only
(3)  (A) and (D) only
(4)  (C) and (E) only
Options :



92090661665. 1
92090661666. 2
92090661667. 3
92090661668. 4

Question Number : 17 Question Id : 92090615609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

(A)  Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C) Diseases, Leprosy, Scurvy
(D)  Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1) (A) and(B) only
(2) (B) and (D) only
(3 (A) and (D) only
(4) (C) and (E) only

Options :

92090661665. 1
92090661666. 2
92090661667. 3
92090661668. 4

Question Number : 18 Question Id : 92090615610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090661669. 1
92090661670. 2
92090661671. 3
92090661672 4

Question Number : 18 Question Id : 92090615610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090661669. 1
92090661670. 2
92090661671. 3
92090661672. 4

Question Number : 19 Question Id : 92090615611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090661673. 1
92090661674. 2
92090661675. 3
92090661676. 4

Question Number : 19 Question Id : 92090615611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090661673. 1
92090661674. 2
92090661675. 3
92090661676. 4

Question Number : 20 Question Id : 92090615612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indians ﬁ Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1) 3 (2) 6
(3) 2 (4) 4
Options :

92090661677. 1
92090661678. 2
92090661679. 3
92090661680. 4

Question Number : 20 Question Id : 92090615612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians n Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1 3 (2) 6
(3) 2 (4 4
Options :

92090661677. 1
92090661678. 2
92090661679. 3
92090661680. 4

Question Number : 21 Question Id : 92090615613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal
Options :

92090661681. 1
92090661682. 2
92090661683. 3
92090661684. 4

Question Number : 21 Question Id : 92090615613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal



Options :

92090661681. 1
92090661682. 2
92090661683. 3
92090661684. 4

Question Number : 22 Question Id : 92090615614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla () Esrad
Options :

92090661685. 1
92090661686. 2
92090661687. 3
92090661688. 4

Question Number : 22 Question Id : 92090615614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla (4) Esrad
Options :

92090661685. 1
92090661686. 2
92090661687. 3
92090661688. 4

Question Number : 23 Question Id : 92090615615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Largest Gas pipe line in India is operated by which company?

(1) Relianece Petroleum (2) GAIL
(3) ONGC (4) Bharat Petroleum



Options :

92090661689. 1
92090661690. 2
92090661691. 3
92090661692. 4

Question Number : 23 Question Id : 92090615615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Largest Gas pipe line in India is operated by which company?

(1) Relianee Petroleum (2) GAIL
(3) ONGC {(4) Bharat Petroleum
Options :

92090661689. 1
92090661690. 2
92090661691. 3
92090661692. 4

Question Number : 24 Question Id : 92090615616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be recyeled 100%?

(1) Food waste (2) Glass bottles
(3) Alluminium ecans (4) Card board
Options :

92090661693. 1
92090661694. 2
92090661695. 3
92090661696. 4

Question Number : 24 Question Id : 92090615616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be recycled 100%?

(1) Food waste (2) Glass bottles
(3)  Alluminium cans (1) Card board
Options :

92090661693. 1
92090661694. 2
92090661695. 3
92090661696. 4

Question Number : 25 Question Id : 92090615617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52r Amendment of constitution of India

Statement II  :  99th Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

92090661697. 1
92090661698. 2
92090661699. 3
92090661700. 4

Question Number : 25 Question Id : 92090615617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I ¢ “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52 Amendment of constitution of India

Statement II  : 99t Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 1l is correct
Options :
92090661697. 1
92090661698. 2

92090661699. 3
92090661700. 4

Part B: Agro Forestry
Section Id : 920906310
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906507
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090615618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Guava belongs to which of the family

1. Anacardiaceae

2. Rosaceae

3. Myrtaceae

4. Caricaceae
Options :

92090661701. 1
92090661702. 2
92090661703. 3
92090661704. 4

Question Number : 26 Question Id : 92090615618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAEe The THEN % e 27

(1) TATHITSuEt (2) Tt

(3) Tuest (4) THiThHEl
Options :

92090661701. 1
92090661702. 2
92090661703. 3
92090661704. 4

Question Number : 27 Question Id : 92090615619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most ideal method of top working in mango is
1.  Inarching
2. \Veneer grafting
3. Side grafting
4.  Contour farming

Options :
92090661705. 1
92090661706. 2



92090661707. 3
92090661708. 4

Question Number : 27 Question Id : 92090615619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 o firer o & e 999 s7ew 7l -3 87

(1) #HeweH (2) forame mfgen (i arfre)
(3) WIvE wHeH (H1ES ATEIT) (4) el HIHIT
Options :

92090661705. 1
92090661706. 2
92090661707. 3
92090661708. 4

Question Number : 28 Question Id : 92090615620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement—I| : Tape is used for the measurement of diameter of tree directly.
Statement—Il :  Diameter of tree can also be calculated using tape.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I| and Statement—I| are incorrect
3 Statement—I is correct but Statement—I| is incorrect

4. Statement—I| is incorrect but Statement—I| is correct

Options :

92090661709. 1
92090661710. 2
92090661711. 3
92090661712. 4

Question Number : 28 Question Id : 92090615620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

== gl e few T E

FUA () : T8 F =8 HI 994 for0 B &1 I HY & G e g
F9 (1) : 9 % =40 1 TOH1 Fld 1 3T Fd gL HI 1 Tl 2 |

I wUAT % HeY ¥ A" 53 w1 fawedi § € weE Iuge I G|

(1) o (D 3 (A1) 1 5 2 |

(2) =+ (1) 3 (1) A1 7oA & |

(3)  wuA (1) TEl 7, 9tg F¥A (1) 7o = |

(4) (D) T B, v FA (ID) §E R

Options :

92090661709. 1
92090661710. 2
92090661711. 3
92090661712. 4

Question Number : 29 Question Id : 92090615621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il :

List—I List—II

(A) | Central Agroforestry Research (1) | Bhopal
Institute

(B) | Indian Institute of Horticultural (I | Jhansi
Research

(C) | Indian Institute of forest (IIt) | Dehradun
Management

(D) | Forest Survey of India (IV) | Bengaluru

Choose the correct option from those given below :

1. (A(: (BHI): (C)=(l): (DI(IV)

2. (A)=(lI); (B)=(I): (C)=(IIl): (D)}-(IV)
3. (A B)I): (C)-(IV); (D))
4. (A(I); (B)-(IV); (C)-(1); (D)1l
Options :

92090661713. 1
92090661714. 2
92090661715. 3
92090661716. 4

Question Number : 29 Question Id : 92090615621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt [ =1 gt 118 gafem it |

T I Tt 11
(A) HFE FH-T1hH I TEIH (I) |
(B) 9RAT IrEH FTETH SR (IT) s
(C) WA TH-a-49- T (11I) <&t
(D) Wt 3= wdem (IV) sTefs

= feu v faeat @ § 98 I #1999 i .

(1) (A)-@), (B)-aD), (C)-(1I), (D)-(AV)
(2)  (A)-aD), (B)-(D), (C)-I1D), (D)-AV)
(3)  (A)-aID), (B)-AD), (C)-AV), (D)-(I)
(4)  (A)-aD, (B)-(IV), (C)-(D), (D)-(IIT)

Options :

92090661713. 1
92090661714. 2
92090661715. 3
92090661716. 4

Question Number : 30 Question Id : 92090615622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most of the banana cultivars are

A. Haploid
B. Diploid

C. Triploid
D. Tetraploid
E. Polyploid

Choose the correct answer from the options given below :

1. Aand B only

2. BandConly

3. CandD only

4. Conly
Options :

92090661717. 1
92090661718. 2
92090661719. 3
92090661720. 4

Question Number : 30 Question Id : 92090615622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el 1 FAfahal Fealaar (fhai) i 87

(A) G
(B) T
(C) frfor
(D) =giE

Hi= feir 7 fawear 9 § wdl 3w giw
(1) ad (A) 3T (B) (2) Had (B) 31 (C)
(3) = (C) 3 (D) (4) e (C)

Options :
92090661717. 1
92090661718. 2



92090661719. 3
92090661720. 4

Question Number : 31 Question Id : 92090615623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit less measure of dispersion is
1. Mean deviation
2. Standard deviation
3. Coefficient of variation
4. Range

Options :

92090661721. 1
92090661722. 2
92090661723. 3
92090661724. 4

Question Number : 31 Question Id : 92090615623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TftEur 1§ Teq W F1 R 7

(1) = fagem (2) T faaem
(3) T =1 TR (4) wE (9iER)
Options :

92090661721. 1
92090661722. 2
92090661723. 3
92090661724. 4

Question Number : 32 Question Id : 92090615624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The National Afforestation Programme is being implemented through a
tier structure.

A. 2
B. 3
C. 4
D. 5

Choose the correct answer from the options given below :
1. Aonly
2. Band C both
3. CandD both

4. Bonly

Options :

92090661725. 1
92090661726. 2
92090661727. 3
92090661728. 4

Question Number : 32 Question Id : 92090615624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEE T W fohaq Tt & dad Tge a1 T 8 7

(A) 2

(B) 3

C) 4

(D) 5

e fedr o fawedi # @ ot I R

(1)  Fae (A) (2) == (B) 3R (C)

(3) == (C) 3R (D) (4) ae (B)
Options :

92090661725. 1
92090661726. 2
92090661727. 3



92090661728. 4

Question Number : 33 Question Id : 92090615625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I| : The development that meets the need of the present without
compromising the ability of the future generations to meet
their own needs is known as sustainable development.

Statement—Il :  Sustainability is an old concept and does not account much in
conservation of environment and agriculture.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement—I and Statement—II are true

2. Both Statement—I and Statement—II are false

3. Statement—I is true but Statement—I| is false

4. Statement—I is false but Statement—I| is true
Options :

92090661729. 1
92090661730. 2
92090661731. 3
92090661732. 4

Question Number : 33 Question Id : 92090615625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 21 e few e #

wu (I): =98 fawm =1 gfasy & Gifemi 1 76 EvEsas & @ w4 S g9 ™
fam foam foFd, adom &t smevasar 9fd & foro e e 2, 97 gumofa
(Teae) fawe Feerm 2 |

FYA (1) : FuRiiE (F=Haa) foawm U QUi aiemed 8 3 sa ggiem 3 S
T | Hig ATEH TE 8 |

I w5 el F, A= fol @ weet § & W g
(1) =2 (1) 3 &Y= (1) gH 9 & |

(2) = (1) R F9A (1) 3T 393 & |

(3 FW ()¥FF 2 3w F (1) 3\ T 8|

(4)  FH () 35F 8 3 F21 (1) 59 2|

Options :

92090661729. 1
92090661730. 2
92090661731. 3
92090661732 4

Question Number : 34 Question Id : 92090615626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Transition zone between two ecosystem is called
A. Ecotype
B. Ecoform
C. Ecotone
D. Ecomorph

Choose the most appropriate answer from the options given below :

1.  Aonly

2. Bonly

3. Conly

4. Donly
Options :

92090661733. 1



92090661734. 2
92090661735. 3
92090661736. 4

Question Number : 34 Question Id : 92090615626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T % o= H HHA & FAT el &7
(A) sehlergy (wifefohm g&a)

(B) wiwH

(C) THieH (Hshibe)

(D) HETE

= foa ™ faewi § 9 ot o gfw

(1) <ad (A) (2) Haet (B)

(3)  =Haw (O) (4) Haa (D)
Options :

92090661733. 1
92090661734. 2
92090661735. 3
92090661736. 4

Question Number : 35 Question Id : 92090615627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is a component of intensive farming system?
1. Soil health care
2. Crop management
3. Energy management

4.  Soil health care, Crop management, Energy management
Options :
92090661737. 1
92090661738. 2
92090661739. 3
92090661740. 4



Question Number : 35 Question Id : 92090615627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefiga § 4 =9 91 v 724 FN qued! #7192 87

(1) W& % @A &l @ad

(2) HEA A

(3) =91 gEEE

(4) T % WA F @I, $H 94 3T Hel TE-6

Options :

92090661737. 1
92090661738. 2
92090661739. 3
92090661740. 4

Question Number : 36 Question Id : 92090615628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Latin square design is very reliable to give precise results
when number of treatments varies from 5 to 12

Reason (R) : In Latin square design, Number of replication = Number of
treatment = Number of rows = Number of column.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3.  (A)is true but (R) are false

4. (A)is false but (R) is true

Options :

92090661741. 1
92090661742. 2
92090661743. 3
92090661744. 4



Question Number : 36 Question Id : 92090615628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trraams 99 (A) ; Sfea 791 st it oo 9= & fou v favase 9w 2 9=
STER S HE 5 9 12 % o= gfafda w2
F (R) : oifes @l 3ifehed H Wiashid 1 G841 = 399N I 6@ = didadl i
TETT = HicHH i TET |
ITE HYAI & Hed H, A g T fowed § § FE IW g
(1) (A) 3 (R) TF1 &9 € 31 (R), (A) =i 581 =me 2 |
(2)  (A) 3 (R) SHT 7 £, wifsd (R), (A) 1 Té = 78 2 |
(3) (A) @ 2 9 (R) & & |
(4) (A) 35 & 7 (R) 99 2
Options :
92090661741. 1
92090661742. 2

92090661743. 3
92090661744. 4

Question Number : 37 Question Id : 92090615629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List—I List—I1

(A) | Indian Grassland and Fodder (1) | Jabalpur
Research Institute

(B) | Institute of Forest Genetics and (I1) | Pryagraj
Tree Breeding

(C) | Tropical Forest Research Institute | (lll) | Jhansi

(D) | Centre for Social Forestry (IV) | Coimbatore

Choose the correct option from those given below :

1. (AR(IV): (B)=(l); (C)=(11): (D)1)

2. (Al (B-(IV); (C)~(1); (D))

3. (A (B)HIV): (C)~(1); (D)1

4. (A B)(1); (CI(I): (D)-(V)
Options :

92090661745. 1
92090661746. 2
92090661747. 3
92090661748. 4

Question Number : 37 Question Id : 92090615629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 11 gt 11 H gafera shifaw |

T 1 =it 11
(A) WA SR UH AW FAEAE WAE () Syl
(B) H-IaTeh td g4 woeE s (1) SRR
(C) FomafeaHig a9 FATaIH FEUH (I11) =zt
(D) @HITAS Tl g (IV) g

= few v fameat § & 9 3 w1 9594 $ifaw -

(1) (A—IV); (BIII); (C)—(11); (D)D)
@ (A B)~(IV); (CO—~(D); (D)—(ITT)
(3)  (A—(II); (B)—(IV); (C)~(D); (D)}~(1D)
(1) (A(II); (B)—(D); (C)~(1T); (D)~IV)

Options :

92090661745. 1
92090661746. 2
92090661747. 3
92090661748. 4

Question Number : 38 Question Id : 92090615630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the most important contribution of Agroforestry in general is to respond to
climate change through... of carbon in above ground plant biomass and below
ground biomass in soil

1.  sequencing
2. sequestration
3. synthesis

4. symbiosis

Options :

92090661749. 1
92090661750. 2
92090661751. 3
92090661752 4

Question Number : 38 Question Id : 92090615630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

F FI-H FT T T H TF AT I0GH, H % FW TG A9 7@ 3T qH F

= a1 ® 99 o # Soay iedd & fase §, s a6 2l
(1)  wepam faem (2) sAfuen (fafFawTm)

(3) Hwerm (4) wEsfEA

Options :

92090661749. 1
92090661750. 2
92090661751. 3
92090661752. 4

Question Number : 39 Question Id : 92090615631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Hen and chicken'’ is a disorder observed in which of the following crops?

1. Apple

2. Mango

3. Grape

4. Papaya
Options :

92090661753. 1
92090661754. 2
92090661755. 3
92090661756. 4

Question Number : 39 Question Id : 92090615631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B (fT) it foe’ us wohr 1 fopm & S o & fepe arn o 27

-

(1) 4= (2) ™
(3) X (4)
Options :

92090661753. 1
92090661754. 2



92090661755. 3
92090661756. 4

Question Number : 40 Question Id : 92090615632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which measure of central tendency requires data arrangement in ascending or
descending order for its estimation?

1.  Arithmetic mean

2. Harmonic mean

3. Median
4. Mode
Options :

92090661757. 1
92090661758. 2
92090661759. 3
92090661760. 4

Question Number : 40 Question Id : 92090615632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 4 T i g & A % ATHeH & o0 HAhel i Haed] FARE a1 Faiel %4 °
SATTvaH BNl &7

(1) S HFE 91 (2) EMI- TTe
(3) =fer (4) wge®
Options :

92090661757. 1
92090661758. 2
92090661759. 3
92090661760. 4

Question Number : 41 Question Id : 92090615633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : The remote sensing is two types i.e., active and passive
depending upon detecting of Electromagnetic Radiation
(EMR).

Reason (R) : When the sensing device direct EMR at an object and detect

the amount of that energy which is reflected back. It is called
active sensing and when sensing device detect EMR
originating from another source, primarily from Sun, itis called
passive sensing.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct

Options :

92090661761. 1
92090661762. 2
92090661763. 3
92090661764. 4

Question Number : 41 Question Id : 92090615633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fio=aras F9F (A) : 9@ Hded o TR &1 &1 & 99 6 "fea 3R Ffeea 5 6 foaga
TeehE [ & a1 @ H W i & E

FA (R) : & Hag 79 faga gEed e #i w9 v Hehm i g
Sl H IW AET H 949 AT 8 1 fF 9 wafda g6 8, o
afshd Taed HE A1 & AR I FAG 99 FF € H I faga
Freh oo, mufres =9 4 9 4, &1 gar @ 8 o 361 Ffers
Geied gl 1l 8 |

ITHF HIA| & "eH |, A+ fGF T fowedi § 7 wE I g

(1) (A) 3 (R) THT 7 & 3 (R), (A) 91 5 =amen & |

(2) (A) 3R (R) TFT 9 &, @fe (R), (A) i W€ =3men 8 2 |

(3) (A)&F 2 9 (R) 315 2 |

(1) (A) 35 8 T (R) &9 &l

Options :
92090661761. 1
92090661762 2

92090661763. 3
92090661764. 4

Question Number : 42 Question Id : 92090615634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Blast disease in rice crop is caused by
1.  Pyricularia oryzae
2.  Helminthosporium oryzae
3. Leptosphaeria Salvini

4. Claviceps oryzaesativa

Options :

92090661765. 1
92090661766. 2
92090661767. 3
92090661768. 4

Question Number : 42 Question Id : 92090615634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I Sl FHA § s U7 TehEeh R0 BT 87

(1) uEfepetE a7t (2) efcnureitas fet
(3) oeedifE g (4) =AEEHE FiRgersar
Options :

92090661765. 1
92090661766. 2
92090661767. 3
92090661768. 4

Question Number : 43 Question Id : 92090615635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit of management under joint forest management is

1. Hamlet

2. Beat

3. Division

4.  \Vilage
Options :

92090661769. 1
92090661770. 2
92090661771. 3
92090661772. 4

Question Number : 43 Question Id : 92090615635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 99 TEEE T FIG WA i FT 3hE BT 27

(1) EHeie (39H) (2) e
(3) wwm (fefasm) (4) TE
Options :

92090661769. 1
92090661770. 2
92090661771. 3
92090661772. 4



Question Number : 44 Question Id : 92090615636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shifting cultivation is also known as
A.  Slash and burn cultivation
B. Podu cultivation
C. Jhuming cultivation
D.

Kumari

Choose the correct answer from the options given below :
1.  Aand B both
2. A,BandC
3. CandD both

4. Donly

Options :

92090661773. 1
92090661774. 2
92090661775. 3
92090661776. 4

Question Number : 44 Question Id : 92090615636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TYHR ot 1 R 3= 99 & off 990 S 87

(A) 9 TF &4 (AT AT FoAET) e

(B) g @l

(C) gir @t

(D) A

Hr= e ™ famweut 9 & wé 3w g

(1) (A) 3R (B) 2 (2) (A), (B) 3R (C)

(3) (C) 3t (D) 2 (4) ==e (D)
Options :

92090661773. 1



92090661774. 2
92090661775. 3
92090661776. 4

Question Number : 45 Question Id : 92090615637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List—II -

List—I List—lI
(A) | Indian Forest Act () |[1952
(B) | First Forest Policy of India (iy | 2002

(C) | Biodiversity Conservation Act (1) | 1927

(D) | Indian Board of Wild life (V) | 1894

Choose the correct option from those given below :
1. (A)=(); (B)(IV): (C)=(11); (D)—(1)
2. (Al (B (CH(IV); (D)=(1)
3. (A(I); (B)(1); (C)=(11); (D)-(IV)
4.

(A)=(IV); (B)=(Il1); (C)~(1): (D)~(1I

Options :

92090661777. 1
92090661778. 2
92090661779. 3
92090661780. 4

Question Number : 45 Question Id : 92090615637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 191 5=t 113 gitfm Hif

Tt 1 ==t 11
(A) WA 99 HfafEm I 1952
(B) Wee WA a9 =i (I1) 2002
(C) Safafaygar e Afufag (II1) 1927
(D) WReAE 99 Sig a8 (IV) 1894
= foer m fowewt ° @ wd 3w g

(1)  (AAIID; (B)AIV); (C)ALL); (D)(T)
(2)  (A(ID); (B)(III); (C)—~(IV); (D)—(T)
(3)  (AIID; (B)}AD); (C)—(1L); (D)HIV)
(4)  (AIV); (B)~1I): (C)—(D); (D)—1I)

Options :

92090661777. 1

92090661778. 2

92090661779. 3
92090661780. 4

Question Number : 46 Question Id : 92090615638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Allelopathy is the best example for

1.  Protocooperation

2.  Association

3. Symbiosis

4. Ammensalism
Options :

92090661781. 1
92090661782. 2
92090661783. 3
92090661784. 4

Question Number : 46 Question Id : 92090615638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATl fehET U HeE =S e £ 7

(1) FERIHIE (FEERIATIEH) (2) =&Egm
(3) wESE Ty (4) oA
Options :

92090661781. 1
92090661782. 2
92090661783. 3
92090661784. 4

Question Number : 47 Question Id : 92090615639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Forest products contributes about ... to the world gross domestic products (GDP)

1. 1.0%

2. 15%

3. 2.0%

4. 2.7%
Options :

92090661785. 1
92090661786. 2
92090661787. 3
92090661788. 4

Question Number : 47 Question Id : 92090615639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fava woel (U19) e Ic9g] O a9 329181 1 TAEH e ferar 27

(1) 1.0% (Z2) 1.5%
(3) 2.0% 4y 2.7%
Options :

92090661785. 1
92090661786. 2
92090661787. 3
92090661788. 4



Question Number : 48 Question Id : 92090615640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heliotropic type of branching pattern should be preferred for the purpose of

1. Road side plantation

2. Canal side plantation

3. Railway side plantation

4.  Seashore plantation
Options :

92090661789. 1
92090661790. 2
92090661791. 3
92090661792. 4

Question Number : 48 Question Id : 92090615640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form warea o foru giad v s wImET WTTe! o 39T @i i & S =rE

(1) s% o T 1Y o | (2) 8% forar diY o |
(3) 1@ v % R 0 o o (4) ¥HzAe W WY o §
Options :

92090661789. 1
92090661790. 2
92090661791. 3
92090661792. 4

Question Number : 49 Question Id : 92090615641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| :  Every organisms of living world is unique and this uniqgueness
of individuals is the basis of the biodiversity.

Statement—Il :  Species richness of any area have secondary importance in
biodiversity of the area.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement—I and Statement—I| are true
2. Both Statement—I| and Statement—I| are false
3. Statement—I is true but Statement—I| is false
4. Statement—I is false but Statement—I| is true

Options :

92090661793. 1
92090661794. 2
92090661795. 3
92090661796. 4

Question Number : 49 Question Id : 92090615641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 o few e #
Fua (). 39 Hifad {999 d wods w9 fafme 8 3k S|l & fafbres Safafa =
YR 2 |

FA (1) : et & F wfaat 61 o= &1 39 &= 1 S0 fafauar 3 0o 78w 2|

ST HuEl % Hed H, i fo 74wl 4 & wd 3w gt
(1) o (D) 3R H2 (ID) I 74 % |

(2)  F (D) 3R FuF (1) S+ 3FFAF € |

(3) A (D) 9T & 30 %= (1) 383 8 |

() F (D) 38T & I FH9 (1) FF 8 |

Options :

92090661793. 1
92090661794. 2
92090661795. 3



92090661796. 4

Question Number : 50 Question Id : 92090615642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ‘social forestry' was first coined by

1. Brandis

2.  Nair

3. Troup

4. Westoby
Options :

92090661797. 1
92090661798. 2
92090661799. 3
92090661800. 4

Question Number : 50 Question Id : 92090615642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTTA ATl 9Teg o1 Had Tadt fohe Sfarfed feram ar7

(1) wifed (2) A==
(3 W (4) faegret
Options :

92090661797. 1
92090661798. 2
92090661799. 3
92090661800. 4

Question Number : 51 Question Id : 92090615643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Contour trenching and afforestation is done in the upper
reaches of the watershed where there may be hillock on soil
may be rocky or hard soil to slow down and retain runoff. At
the base of above mentioned area, diversion drains provided.

Reason (R) : The diversion drain is provided to slow runoff and divert it into
a protected water way which will lead to a storage structure
such as farm pond/tank.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3.  (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090661801. 1
92090661802. 2
92090661803. 3
92090661804. 4

Question Number : 51 Question Id : 92090615643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frraars 2 (A) : Fgd o AR S0, I 99 89 % F e W e 2
el BT Trdl 21, WgHl geT a1 HaR gel B Wi 5 Serewe # i
& Tehd! & AN TF Hehdl ¢ | ITHR TIH & IR T IiFa ATt
S AT E |

= (R) qiEde ATfedl, FoiEed & Uil 4 & fou = A # 3 3=
Tifed S AW A | I 2 A 76 v e = wifa g 99
©d & dreid/d |

I A & HeH H, I 6 ™ famedl § | wE I gH

(1)  (A) 3R (R) gH1 T3 & 3 (R), (A) it =t =amen 2|

(2) (A) 3 (R) TSI 77 &, =it (R), (A) 1 @&t =gmen 781 2|

(3) (AT 8T+ (R) FEF 2|

(4) (A) 39F & 7 (R) 99 &

Options :

92090661801. 1
92090661802. 2
92090661803. 3
92090661804. 4

Question Number : 52 Question Id : 92090615644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The planning commission (Khanna, 1989) has recently identified --—-- resource
development agroecological regions in India.
1. 10
2. 15
3: 18
4. 19
Options :

92090661805. 1
92090661806. 2
92090661807. 3
92090661808. 4

Question Number : 52 Question Id : 92090615644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT AEM (G, 1989) 5 71 € § wRa § e gund T S ofdes aEt 6
TETH i 27

(1) 10 (2) 15
(3) 16 (4) 19
Options :

92090661805. 1
92090661806. 2
92090661807. 3
92090661808. 4

Question Number : 53 Question Id : 92090615645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Integration of tree and grasses is known as

A. Apiculture

B. Silviculture

C. Sericulture

D. Silvipalune

E. Agrisilvi pasture

Choose the correct answer from the options given below :
1. Aonly

2. BandConly

3. Eonly
4. Donly
Options :

92090661809. 1
92090661810. 2
92090661811. 3
92090661812. 4

Question Number : 53 Question Id : 92090615645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3 GTH % HHHCH I FT Hgl AT 87

(A)  wgHwEl TeH

(B) =9 594

(C) W i geH

(D) fafeauregm

(B) wfifaedt ureeg (wiifaedt smmme)

+ra o ™ faweni @ ¥ wE 3 g

(1) == (A) (2) Hae (B) 31 (O)

(3) a9 (E) (4) % (D)
Options :

92090661809. 1
92090661810. 2
92090661811. 3
92090661812. 4

Question Number : 54 Question Id : 92090615646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The graphical representation of ecological parameters is called

1. Ecological niche

2.  Ecological hill
3. Ecological pyramids
4. Food chain

Options :

92090661813. 1
92090661814. 2
92090661815. 3
92090661816. 4

Question Number : 54 Question Id : 92090615646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



urfifrfasht araevei & STRE %9 Fi 991 %8 Ja g

(1) i fea (2) wuitas v=rE
(3) iR Tifs (4) @mE FEen
Options :

92090661813. 1
92090661814. 2
92090661815. 3
92090661816. 4

Question Number : 55 Question Id : 92090615647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shade effect of tree on associated crops can be overcome by

1. Canopy management

2. Roof management

3. Enhance fertilizer dose

4.  Frequent irrigation
Options :

92090661817. 1
92090661818. 2
92090661819. 3
92090661820. 4

Question Number : 55 Question Id : 92090615647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g& I BT 1 IH| GG HHG W T9E H FH G e gehar 87

(1) =t (faam) gs= 3 (2) 7 U9 H
(3) FAF HI GUH FErad | (4) 9v=ER fE=E g
Options :

92090661817. 1
92090661818. 2
92090661819. 3
92090661820. 4



Question Number : 56 Question Id : 92090615648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Social forestry programme was launched in which of the Five-year Plan?

1. 5th
2. 6th
3. Tth
4. Bth
Options :

92090661821. 1
92090661822. 2
92090661823. 3
92090661824. 4

Question Number : 56 Question Id : 92090615648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHT% |Ti-eh! HEHa (T d=auig e § Ae fhan = 917

(1) 5th (2) 6th
(3) Tth (4) 8th
Options :

92090661821. 1
92090661822. 2
92090661823. 3
92090661824. 4

Question Number : 57 Question Id : 92090615649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Home Garden Agroforestry system is commonly practiced in

1.  Arid lands

2.  Humid tropical climate
3. Sub humid low lands
4.  High altitudes

Options :

92090661825. 1
92090661826. 2
92090661827. 3
92090661828. 4

Question Number : 57 Question Id : 92090615649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TE &M FIY F1(-eh! T HEEE: €9 § HE T TgF i a1 87

() 9 9™ (2) T3 IwEHfeAdE JeEy
(3) 39S el (4) F== &1 §
Options :

92090661825. 1
92090661826. 2
92090661827. 3
92090661828. 4

Question Number : 58 Question Id : 92090615650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sustainable alternative land use system involving trees combined with crop,
animals and/or other enterprises of on same unit of land is termed as

1.  Social forestry

2. Agroforestry

3. Farm forestry

4. Sustainable forest management

Options :
92090661829. 1



92090661830. 2
92090661831. 3
92090661832. 4

Question Number : 58 Question Id : 92090615650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF W FI 1S A gAl HI BEAI, THAU AR/ T ITHA & 19 TS Fd gY R0
dehfcaesh Y ITENT YTel S FET A 8

(1) =mfas aif=eht (2) Hfy f=h
(3) @ At (4) HUWOfE (F&Aad) 9 a4
Options :

92090661829. 1
92090661830. 2
92090661831. 3
92090661832. 4

Question Number : 59 Question Id : 92090615651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The broad and well be known classification of Agroforestry systems was given
by

1. Dwivedi

2. Chundawat

3. Nair

4. Gautam
Options :

92090661833. 1
92090661834. 2
92090661835. 3
92090661836. 4

Question Number : 59 Question Id : 92090615651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHiatieh! F1 =9 AR uibg Fftww fhee faar oy

(1) Teeed (2) TusmEd
(3) AR (4) A
Options :

92090661833. 1
92090661834. 2
92090661835. 3
92090661836. 4

Question Number : 60 Question Id : 92090615652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of trees are best to subsidize noise pollution?

1. Evergreen trees

2. Semi evergreen trees
3. Deciduous trees
4. Scrubs

Options :

92090661837. 1
92090661838. 2
92090661839. 3
92090661840. 4

Question Number : 60 Question Id : 92090615652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TGV I HY FH & 0 fFH TER F 9% 395 4 B¢

(1) wemeR 95 (2) 3T& HeEER 34
(3) vdwE 94 (4) e
Options :

92090661837. 1
92090661838. 2
92090661839. 3
92090661840. 4



Question Number : 61 Question Id : 92090615653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : The crop failure in black pepper is due to spike shedding

which is becoming production constraint in this crop growing
areas.

Reason (R) : The spike shedding in black pepper is attributed to various
factors viz. fungal (Colletotrichum sp.). Insects, drought,
absence of pollination and inadequate pollination.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090661841. 1
92090661842. 2
92090661843. 3
92090661844. 4

Question Number : 61 Question Id : 92090615653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 29 (A) ;. =re " 6t @ 61 fawaa sad 0y i Tt g=4 ¥ 2 8 e
9 SHe I ITH Jel 87 H $H% IS H HisAs 31 Tl 2 |

Fr0 (R) : FHIATEE H 99 HI d16fl o FS4 & 90 H HEE B1d & o9 16 HaF
(Fifctaigrgay oifa) e, TEHE, WEO F 3I9E AW A=
AT £ |

IR HUAI o HeW #, J G T fosewi 7 & wE IW g

(1) (A) 3 (R) ST & & 31 (R), (A) Fif 78 = 2

(2) (A) 3 (R) gFT 8 &, 9fha (R), (A) i &dt =amem 78 21

(3) (A)@eT 8 9 (R) & 2 |

(4)  (A) 35 & 7 (R) &4 2|

Options :

92090661841. 1
92090661842. 2
92090661843. 3
92090661844. 4

Question Number : 62 Question Id : 92090615654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Wasteland Development Board (NWDB) came into existence during the
period of

1. 1970

2. 1975

3. 1980

4. 1985
Options :

92090661845. 1
92090661846. 2
92090661847. 3
92090661848. 4

Question Number : 62 Question Id : 92090615654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e w9 e faw afufa e Fe @ sifeaa ° amf?

(1) 1970 (2) 1975
(3) 1980 (4) 1985
Options :

92090661845. 1
92090661846. 2
92090661847. 3
92090661848. 4

Question Number : 63 Question Id : 92090615655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Components of social forestry are
A. Farm forestry

Extension forestry

Recreation forestry

Apiculture

m Do O D

Silviculture

Choose the correct answer from the options given below :

1. A BandC

2. Aonly

3. Bonly

4. CandE only
Options :

92090661849. 1
92090661850. 2
92090661851. 3
92090661852. 4

Question Number : 63 Question Id : 92090615655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g Tl & geh 87

(A) @d TR

(B) T i

(C) THRSA Frieh

(D) wYgHeEl 9o

(E) o4 da44

i e ™ fawei 9§ wE 3w g

(1) (A, (B) 3 (C) (2) =9 (A)

(3) = (B) (4) == (C) 3R (E)
Options :

92090661849. 1
92090661850. 2
92090661851. 3
92090661852. 4

Question Number : 64 Question Id : 92090615656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : Wasteland are the degraded land which are currently
unutilized and deteriorating due to lack of awareness and
management.

Statement—Il : Wasteland management can only and only reclaimed using

biological measures.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement—I and Statement—I| are true

2. Both Statement—I and Statement—I| are false

3. Statement—I is true but Statement—I| is false

4. Statement—I is false but Statement—I| is true
Options :

92090661853. 1
92090661854. 2



92090661855. 3
92090661856. 4

Question Number : 64 Question Id : 92090615656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICECUELER R S &

FYA (I): & 4, 3vsifaa g &t 2 91 f6 adom § Sreeed 37 ge-E & 39me
T H9gad & 3R 35 &9 B @2 |

FUA (II) : TR Y =Haw=n Fi Had sAfas wihl 1 IR K U A Hhal 2 |

I wUA & He # A fai ™ fawedi § & ved IvgE sw g |

(1) = (D) 3 (1) &1 & 2 |

(2) A (1) 3 (1) =1 7o 2 |

(3) A () 961 8, g &9 (1) Ted 2 |

(4) w¥A (1) To 2, Teg FUA (1) |8 2 |

Options :

92090661853. 1
92090661854. 2
92090661855. 3
92090661856. 4

Question Number : 65 Question Id : 92090615657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lemon grass (Citronella flexuosus Nees) belongs to the family
1. Poaceae
2. Lamiaceae
3. Legumenoceae

4. Rosaceae

Options :

92090661857. 1
92090661858. 2
92090661859. 3
92090661860. 4



Question Number : 65 Question Id : 92090615657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T (faden wegaia ie) e ofan & 9= g -

(1) e (2) ifEuEt
(3) ©igmEAE (4) TriE
Options :

92090661857. 1
92090661858. 2
92090661859. 3
92090661860. 4

Question Number : 66 Question Id : 92090615658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Allelopathy denotes

1.  positive interaction

2. negative interaction
3. positive as well as negative interaction
4.  No interaction

Options :

92090661861. 1
92090661862. 2
92090661863. 3
92090661864. 4

Question Number : 66 Question Id : 92090615658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt F Fad Fal 87
(1) HHAHS TH T4 (2) FhFATHS 9T THE
(3) TERES I TRATS T T (4) 1§ TER T9E TEI

Options :



92090661861. 1
92090661862. 2
92090661863. 3
92090661864. 4

Question Number : 67 Question Id : 92090615659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pterocarpus dalbergiodes is grown under Taungya system in states of
A. Uttar Pradesh
B. Tamil Nadu
C. West Bengal
D. Andaman and Nicobar

Choose the most appropriate answer from the options given below :

1. Aonly

2. Bonly

3. Conly

4. Donly
Options :

92090661865. 1
92090661866. 2
92090661867. 3
92090661868. 4

Question Number : 67 Question Id : 92090615659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2ITT WUIeAt %6 F=Tia SUhINE Scatassied fha U= § ImE AW 87

-

(A) IEeH

(B) wrfeTg

(C) afvadt e

(D) 3=HA AR FEn

i fea 7 faweai § 9 9 3 gfv -

(1) =aa (A) (2) Hae (B)

(3)  *aE (C) (4) =@ (D)
Options :

92090661865. 1
92090661866. 2
92090661867. 3
92090661868. 4

Question Number : 68 Question Id : 92090615660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I| :  Dalbergia sissoo is commonly growing species in riverine belt
of most part of the country.

Statement—Il :  Regeneration of Dalbergia sissoo is easy and can be easily
achieved naturally.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I and Statement—I| are incorrect

3. Statement—I is correct but Statement—I| is incorrect

4. Statement—I is incorrect but Statement—II is correct
Options :

92090661869. 1
92090661870. 2
92090661871. 3
92090661872. 4



Question Number : 68 Question Id : 92090615660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g e g mw &
FuA (I):  Soafean g <9 &% Aftsha Afg 92 &9 § 9 371 g8 It S 2 |

Fed (1) : SoEfdal &5 &1 [eead 3WH & 3 39 Ui ¥4 H JEH 8 ora
fopan =11 w1 2 |

ITgE YA = "o ¥ = e 7 faweni § & we@ IugE W g
()  =4a () Fr (1) T w2 |
(2) = (1) 3T (1D) <=1 TTord & |

(3) @A (I) 91 2, 9%q & (1) 7o 2 |
(4) A (1) Tera 2, g FuE (1) 858 2 |

Options :

92090661869. 1
92090661870. 2
92090661871. 3
92090661872. 4

Question Number : 69 Question Id : 92090615661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pyrilla of Sugarcane also secrete honey dew which attract black fungus that
cover the leaf and directly affect the

1. Respiration

2.  Photosynthesis

3. Fermentation

4. Morphology
Options :

92090661873. 1
92090661874. 2
92090661875. 3
92090661876. 4



Question Number : 69 Question Id : 92090615661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 YA 98¢ 95 Hifad al & o1 T Flel s (i FH) H NG Har 2 =1
T F TH Y o W wE T #

(1) va&q (2) T HIAT
(3) faoa (4) AR
Options :

92090661873. 1
92090661874. 2
92090661875. 3
92090661876. 4

Question Number : 70 Question Id : 92090615662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Agroforestry play crucial role in Biodiversity conservation,
livelihood security and income generation.

Reason (R) : Overall farm income generated in agroforestry accompanying
higher chances of disease and animal losses.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090661877. 1
92090661878. 2
92090661879. 3
92090661880. 4



Question Number : 70 Question Id : 92090615662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Froarers #24 (A) : FN a6, Safafaud e, Sed T e 3 3y wHE A
TR i 3 FA 8 |

F W (R) : HY AT § @dl ° IR o AT & qY-TY W AT FI0ET I
B & ifuerias 39e 21 £ |

IRfad HUA1 o HeW #, 9 g & foshewi § & wE 3w g

(1) (A) 3 (R) 3HT 7 & 3 (R), (A) Fit 781 =me 2 |

(2) (A) 3R (R) gHi &cF &, ©ifrd (R), (A) i @&t =amen =8 £ |

(3) (A)E™ 2 9 (R) 38 2 |

(4) (A) 3@ 2 97 (R) 59 &)

Options :

92090661877. 1

92090661878. 2

92090661879. 3
92090661880. 4

Question Number : 71 Question Id : 92090615663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cross-sectional shape of any shelter belts is

1. Parallel

2. Nelloid

3. Cylinder

4. Pyramid
Options :

92090661881. 1
92090661882. 2
92090661883. 3
92090661884. 4

Question Number : 71 Question Id : 92090615663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Torslt anwEvE (Iceteice) i IR FIE HT HEHN Al 2l 87

(1) EEEFR (2) s
(3) SR (4) Trfr=
Options :

92090661881. 1
92090661882. 2
92090661883. 3
92090661884. 4

Question Number : 72 Question Id : 92090615664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of cycling of nutrients from soil to the plant and back to the soil is
called

Nutrient uptake
Nutrient absorption
Nutrient cycling

Nutrient pumping

m o o w e

Nutrient mineralization

Choose the correct answer from the options given below :

1. AandB

2. Donly

3. CandE only

4. Cand D Both
Options :

92090661885. 1
92090661886. 2
92090661887. 3
92090661888. 4

Question Number : 72 Question Id : 92090615664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qiwehi 1 Ge1 & dei # i Al & g § arom =se 1 sl w w1 Fa o 2
(A) TiYH FHAUEW

(B) U9 =i

(C) e =

(D) HiYH 99

(E) des @fsiieno

= feit m fawedi § @ wd I gRU

(1) (A 3 (B) (2) e (D)

(3) =aa (C) (4) (C) 3 (D) gMI
Options :

92090661885. 1
92090661886. 2
92090661887. 3
92090661888. 4

Question Number : 73 Question Id : 92090615665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List—l| : Regarding measurement of log

List- List-I

(A) | Smalian formula M) | (g4 =1

(B) | Huber formula (y | §;+4S,+S, L
6

/

(C) | Newton's formula () | S, ! (for paraboloid)

(D) | Hoppus formula (IV) mx;{mrparabmﬂid}

Choose the correct option from those given below :
1. (AIV); (B (Cy(I); (D)-(1)
2. (A(V): (B)=(1IT): (C)=(I); (D)(1)
3. (A(); (B)1I): (C)IV); (D)-(1I)

4. (A(ID; (B (CH(IV); (D)-(1)

Options :

92090661889. 1
92090661890. 2
92090661891. 3
92090661892. 4

Question Number : 73 Question Id : 92090615665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 11 gt 11 & gifer Hife,

= 1 il
(A) dfera @3 M (g/4Pxl
(B) =T ¥ (I0) W:—“x;
C) FH g (I1D) s, x! (¥ =138 % foru)
(D) =9 g av) 882, (fu e % fow)
Hra fed i fawedi # & w8 3w ghw:

(1) (A=(IV): (B)I); (C)IID); D)
(2)  (A-IV): (B)~I); (C)~1I); (D)I)
(3)  (A-IID): (B)—(I); (C)IV); (D)D)
(4)  (A)-I); (B)(III); (C)~IV); (D)—(T)

Options :

92090661889. 1
92090661890. 2
92090661891. 3
92090661892. 4

Question Number : 74 Question Id : 92090615666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Joint forest management concept was evolved in early of

1. 1950
2. 1960
3. 1970
4. 1980
Options :

92090661893. 1
92090661894. 2
92090661895. 3
92090661896. 4

Question Number : 74 Question Id : 92090615666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TYF 99 Yo =i Thod] #a (i 53 417

(1) 1950 (2) 1960
(3) 1970 (4) 1930
Options :

92090661893. 1
92090661894. 2
92090661895. 3
92090661896. 4

Question Number : 75 Question Id : 92090615667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shelterbelts should possess a typical shape

A.  Triangular
B. Linear belt
C. Square

D. Rectangular
E. Hexagonal

Choose the correct answer from the options given below :

1. Aonly

2. Aand B both

3. BandC

4. D andE both
Options :

92090661897. 1
92090661898. 2
92090661899. 3
92090661900. 4

Question Number : 75 Question Id : 92090615667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FIHT U (Iiwel "ee) I HAEHIL HEl BHT IM8T?

(A) Freemfa

(B) i@awE

(C) =i

(D) 3mEd

(E) weysE

= foa ™ fawei 8 ¥ wd I g

(1) ==e (A) (2) (A) 3 (B) gt

(3) (B) 3R (C) (4) (D) 3 (E) gHi
Options :

92090661897. 1
92090661898. 2
92090661899. 3
92090661900. 4

Question Number : 76 Question Id : 92090615668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Citrus canker is caused by
A.  \Mirus
B. Fungus
C. Bacteria
D. Nematodes
E. Insects

Choose the most appropriate answer from the options given below :

1. Aand B only

2. Conly

3. Donly

4. Eonly
Options :

92090661901. 1



92090661902. 2
92090661903. 3
92090661904. 4

Question Number : 76 Question Id : 92090615668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Toew S fras Rw BT 27

(A)  feoumo

(B) =%

(C) =

(D) uerE

(E) e

= T3 ™ fawedi © 9 98 I 9T -

(1) = (A) 3T (B) (2) e (C)

(3)  FEa (D) (4) Fa (E)
Options :

92090661901. 1
92090661902. 2
92090661903. 3
92090661904. 4

Question Number : 77 Question Id : 92090615669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Fertilizer trees improves nutritional status of food and feed
crops.
Reason (R) : The fertilizer trees improve nitrogen fixation, greater volume

of soil nutrients through deep rooting trees and improved
availability of nutrients associated with higher cation
exchange capacity and organic matter level.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090661905. 1
92090661906. 2
92090661907. 3
92090661908. 4

Question Number : 77 Question Id : 92090615669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FoeaTe 9 (A) : 390 99 @rE 3 WTE BEA| % 99 T Y HUR A 8 |

=R (R) : 3ot 95 ATEgia fRdieR, el T a9 S diell 92§ 5T Il
F HAEAT IR G Hl IFA TGl H TEAUG I herdH
fafmg gar st FEte e & @ 0 g9R @ 2

ITFd HYAI  Hed H, A g T fawedt § | w56 3w gfw

(1) (A) 3 (R) 3F1 &3 & 3 (R), (A) T 5&1 = €|

(2)  (A) IR (R) TFT 9 &, ©ife (R), (A) i 58l =men 76 2 |

(3) (A) & & Ut (R) 567 B |

(4)  (A) 35 & g (R) & 2|

Options :

92090661905. 1

92090661906. 2
92090661907. 3



92090661908. 4

Question Number : 78 Question Id : 92090615670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sugarcane crop should be harvested when the brix value reach to

1. 24

2. 6-8

3. 9-11

4. 12-18
Options :

92090661909. 1
92090661910. 2
92090661911. 3
92090661912. 4

Question Number : 78 Question Id : 92090615670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T~ 1 HHA Tl FeTs a9 BT AT 59 6061 5798 TF & -

() 247 (2) 6-8%
(3) 9-11% (4) 12-187
Options :

92090661909. 1
92090661910. 2
92090661911. 3
92090661912. 4

Question Number : 79 Question Id : 92090615671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Remote Sensing Agency is located at
1. Lucknow
2. Hyderabad
3. Bangalore

4. Dehradun

Options :

92090661913. 1
92090661914. 2
92090661915. 3
92090661916. 4

Question Number : 79 Question Id : 92090615671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEE GoX Helgd USH HEl [€4d 87

(1) s (2) #euETg

(3) dmEn (4) <&
Options :

92090661913. 1
92090661914. 2
92090661915. 3
92090661916. 4

Question Number : 80 Question Id : 92090615672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Mangroves are salt tolerant ecosystems in tropical and
subtropical regions.

Reason (R) : Mangrove ecosystems are largely characterized by
assemblage of unrelated tree Genera that share the common
ability to grow in saline and duel zones.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)is true but (R) is false

4. (A)is false but (R) is true
Options :
92090661917. 1
92090661918. 2

92090661919. 3
92090661920. 4

Question Number : 80 Question Id : 92090615672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fio=amars F9F (A) : 39 Hfea-dm IR 0O FHiEHE fF 0 UUE @an |@fEe
ufEa= £ |

F (R) : fin afiem, @gd @ Emf gaevi & g | sfefaa g9 € e
o ST &3 | 3 hT qHaT = HE w5 E |

I YA % deH H, i g ™ faewed | # §El I g

() (A) 3R (R) 3F1 &3 & 3 (R), (A) i =& =me & |

(2) (A 3R (R) I 7 &, AT (R), (A) i w& ==men @ 2 |

(3) (A)® 2 9eg (R) #6cd B |

(4) (A) 3EF & 7 (R) & 2|

Options :

92090661917. 1

92090661918. 2

92090661919. 3
92090661920. 4



Question Number : 81 Question Id : 92090615673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The National centre of medium range weather forecasting provide the forecast
for next

1. 24 hour
2. lessthan 3 days
3. 3to10days

4. more than 6 months

Options :

92090661921. 1
92090661922. 2
92090661923. 3
92090661924. 4

Question Number : 81 Question Id : 92090615673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEE T99 319 HHY EHEH %5 37T 6t 999 1 [@HEE o 27

(1) 249 (2) T a+m
(3 3m10f= (4) 6WEH & Al
Options :

92090661921. 1
92090661922. 2
92090661923. 3
92090661924. 4

Question Number : 82 Question Id : 92090615674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pink ball worm is a serious pest of

1. Sugarcane

2. Cotton

3. Chickpea

4.  Maize
Options :

92090661925. 1
92090661926. 2
92090661927. 3
92090661928. 4

Question Number : 82 Question Id : 92090615674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T =fa o (Frer) form &1 v famaees dies 27

(1) 7= (2) =UH
(3) = (4) we=RI
Options :

92090661925. 1
92090661926. 2
92090661927. 3
92090661928. 4

Question Number : 83 Question Id : 92090615675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During epidemic year, which insect cause 40-60% damage of gram yield

1.  Helicoverpa armigera Hubner

2. Agrotis ipsilon

3. Odontotermes obesus

4.  Etiella zinckenella
Options :

92090661929. 1
92090661930. 2



92090661931. 3
92090661932. 4

Question Number : 83 Question Id : 92090615675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEMHT 99 < 2 fohe =hiz 4 =+ =i 395 i 40-60% =8 = fe7r |

(1) Ecfipiadt 7T gaa (2) wiifea svifrea
(3) ERRHE IEET (4) zfeven e
Options :

92090661929. 1
92090661930. 2
92090661931. 3
92090661932. 4

Question Number : 84 Question Id : 92090615676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lalit is an improved variety of

1.  Apple

2. Mango

3. Guava

4. Pine apple
Options :

92090661933. 1
92090661934. 2
92090661935. 3
92090661936. 4

Question Number : 84 Question Id : 92090615676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HAfetd TepEehl T I=1d T &7

-

(1) &= (2) ™
(3) =G (4) FAEE (95409 )
Options :

92090661933. 1
92090661934. 2
92090661935. 3
92090661936. 4

Question Number : 85 Question Id : 92090615677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Alloy cropping is also known as
1. Hedge row inter cropping
2. Woody hedges
3. Woodlots

4. Soil conservation hedges

Options :

92090661937. 1
92090661938. 2
92090661939. 3
92090661940. 4

Question Number : 85 Question Id : 92090615677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl wEE (Tel HITAT) 1 T 9T AT S 27
(1) =g 9fF o F=F (3 T s26im)
(2) HEE A
(3) FEE EE
(4) & HET =TS

Options :
92090661937. 1
92090661938. 2



92090661939. 3
92090661940. 4

Question Number : 86 Question Id : 92090615678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which insect cause has highest damage and loss about 75% alone fo the tea
plantation?

1. Buzura suppressaria
2. Heterusia cingals
3. Clania crameri

4. Tetranychus bioculatus

Options :

92090661941. 1
92090661942. 2
92090661943. 3
92090661944. 4

Question Number : 86 Question Id : 92090615678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T8 e 4 919 & diYl § Teg AT afd qg=e 8 3 fad e 75% & g8 87

(1) T @ ke B
(3) wAE FHG (4) HFE TEIPoIcT
Options :

92090661941. 1
92090661942 2
92090661943. 3
92090661944. 4

Question Number : 87 Question Id : 92090615679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List=II :

List-I List—II

(A) | Project Lion (n | 1970

(B) | Project Crocodile (I | 1991

(C) | Project Elephant (1) [ 1975

(D) | Project Hangul (V) | 1972

Choose the correct option from those given below :
1. (A-(I); (B)=(IV); (C)-(1); (D))
2. (A(IV) (B)=(l); (C)=(In); (D)-(1)
3. (A)(II); (B)=(1); (C)~(Ill); (D)~(IV)
4. (AR(IV); (B)=(l); (C)=(l); (D)

Options :

92090661945. 1
92090661946. 2
92090661947. 3
92090661948. 4

Question Number : 87 Question Id : 92090615679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 w1 gt 115 gafoa Hifa |

11 T 11
(A) TreEe 30 @ 1970
(B) ieide WRAS (ID) 1991
(C) wrerFe g1t (III) 1975
(D) disi=e BT (Iv) 1972
= feg ™ faweat § 9 9d 3w g

(1)  (A-(1Ix; (BIV); (C)-(I): (D)D)
(2)  (AIV): (B)~II); (C)—1D): M-I
(3)  (A)-D: (B)-D; (CILL); (D)AIV)
(4)  (A)-IV); (B)IL); (C)—HI): (D)D)

Options :

92090661945. 1
92090661946. 2
92090661947. 3
92090661948. 4

Question Number : 88 Question Id : 92090615680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Planting distance of mango under ultra high density plantation is

AL 5mx5m
B. 4mx4m
C. 3mx2m
D. 3mx2m

Choose the correct answer from the options given below :
1. Aand B only
2. BandC only

3. Conly
4. Donly
Options :

92090661949. 1



92090661950. 2
92090661951. 3
92090661952. 4

Question Number : 88 Question Id : 92090615680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAfd I== I JHHAW % IF=ria AW H S i g e S =it

(A) Hm¥*X5m
(B) dmx4dm
(C) fmx4dm

(D) 3mxZm

Hr= feir 7 fawewr 9 9 wé 3w g

(1) = (A) 3 (B) (2) = (B) 3 (0)

(3)  Haw () (4) Ha= (D)
Options :

92090661949. 1
92090661950. 2
92090661951. 3
92090661952. 4

Question Number : 89 Question Id : 92090615681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Apple is mainly propagated by
A.  Cuttings
B. Shield budding
C. Patch grafting
D. Seeds
Choose the most appropriate answer from the options given below :

1. Aand B only

2. BandDonly

3. Bonly

4. Donly
Options :

92090661953. 1
92090661954. 2
92090661955. 3
92090661956. 4

Question Number : 89 Question Id : 92090615681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e I TG HY I 41 87
(A) Hoaad
(B) fores wferar (fores afem) &
(C) = o (FrefeT) &

(D) =4

e fe¥ T fashedi 4 & w99 I9gE I MY

(1)  had (A) 3T (B) (2) +ae (B) 3 (D)
(3 = (B) (4) == (D)
Options :

92090661953. 1
92090661954. 2
92090661955. 3
92090661956. 4



Question Number : 90 Question Id : 92090615682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mango malformation is caused by
A. Bacteria

Virus

Fungus

Nematodes

m B o W

Insects
Choose the correct answer from the options given below :

1. Aand B only

2. CandD only

3. BandEonly

4. Conly
Options :

92090661957. 1
92090661958. 2
92090661959. 3
92090661960. 4

Question Number : 90 Question Id : 92090615682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I FEua1 fRa g Bl 27

(A) e

(B) T

(C) Fa=

(D) Toers

(E) e

H= o ™1 fomenl 4 & wd 3 g

(1) = (A) 3T (B) (2) == (C) 31 (D)

(3) aw (B) 30 (E) (4) == (C)
Options :

92090661957. 1
92090661958. 2
92090661959. 3
92090661960. 4

Question Number : 91 Question Id : 92090615683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The ‘Pant Haritima’ is a good leave and seed yielder variety of

1.  Turmeric

2. Coriander

3. Ginger

4. Fenugreek
Options :

92090661961. 1
92090661962. 2
92090661963. 3
92090661964. 4

Question Number : 91 Question Id : 92090615683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘U BHEET U =Sl Ul 3N 3= @e I09TeE i e & | 98 ThEehl v e 27

(1) &gl (2) s
(3) 3Ie=H (4) weft
Options :

92090661961. 1
92090661962. 2
92090661963. 3
92090661964. 4

Question Number : 92 Question Id : 92090615684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is an important improved variety of turmeric?

1. Krishna

2. Survarna

3. Sudarshan

4. Krishna, Survarna, Sudarshan

Options :

92090661965. 1
92090661966. 2
92090661967. 3
92090661968. 4

Question Number : 92 Question Id : 92090615684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F=fefiga o @ &F i god! $1 U TEEqYl 34 9 87

(1) F=m (2) e
(3) HeuHA (4) FHem, gaui 3R e
Options :

92090661965. 1
92090661966. 2
92090661967. 3
92090661968. 4



Question Number : 93 Question Id : 92090615685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—Il with List=II :

List—I List—I

(A) | First Silviculturist of India (1) | Watson

(B) | First Inspector General of Forest (I1) | Troup

(C) | First Conservator of Forest (lty | S. Eardley Wilmot

(D) | First President of FRI (IV) | Dietrich Brandis

Choose the correct option from those given below :

1. (A1) B)=(II); (C)=(Il; (D)}-(IV)

2. (A)-(V); (B)=(Ill); (C)-(I1); (D))
3. (Al (B-(V): (C)-(1); (D)1l
4. (A, (B-(V): (C)-(l1); (D))
Options :

92090661969. 1
92090661970. 2
92090661971. 3
92090661972. 4

Question Number : 93 Question Id : 92090615685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 10 gt 118 gufera =ifeg |

T 1 =t 11
(A) 9RT &1 999 99 a4 (I) daeEd
(B) WRA T 999 59 $T<FL I (I0) =
(C) ¥R &1 999 99 HLEH (I11) wd. w2t faemie
(D) UE.AW.HATE. =TT A (IV) o= wifsa
Hi= feir m fawedt § @ wd s ghu:

(1)  (AD): (B)ID; (C)—(ILI); (D)IV)
(2)  (A-IV); (B)AII): (C)—(11); (D)—(T)
(3) (A (B)-(IV); (C)HI); (D)—(I1I)
(4)  (AID: (B)-(IV); (CHHILI); (D)D)

Options :

92090661969. 1
92090661970. 2
92090661971. 3
92090661972. 4

Question Number : 94 Question Id : 92090615686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which crop, tying, wrapping and proping operation are done to provide
mechanical strength and proper easy distribution of CO,

1. Pegionpea
2. Mustard
3. Sugarcane

4. Bajra

Options :

92090661973. 1
92090661974. 2
92090661975. 3
92090661976. 4

Question Number : 94 Question Id : 92090615686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fora waa § it wifaa & 3t CO. % I9ga smaM faamw & faw e, aven 3k
YA WA i ST 8 7

(1) I = (2) @
(3) 7= (4) =T
Options :

92090661973. 1
92090661974. 2
92090661975. 3
92090661976. 4

Question Number : 95 Question Id : 92090615687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known as father of ‘Green Revolution’ and did pioneer research work in
evolving the high yielding varieties of wheat?

1. Dr. M.S. Swaminathan

2.  Dr. Norman E Borlaug

3. Dr.N.S. Randhawa

4. Dr. P. Maheshwari
Options :

92090661977. 1
92090661978. 2
92090661979. 3
92090661980. 4

Question Number : 95 Question Id : 92090615687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Hifd 1 F fohdl Fal F1a1 & fawai 379+ 310l 919 GR 718 = 3=d 399 i e
fafaa #i

(1) =1 vq.uH, @A (2) 1. FE = IR
(3) . T.TE, T9E (4) =1, 9. wevad
Options :

92090661977. 1



92090661978. 2
92090661979. 3
92090661980. 4

Question Number : 96 Question Id : 92090615688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What are the major methods of raising seedlings?
1. Wet bed method
2.  Dry bed method
3. Dapog method
4. Wed bed Method, Dry bed Method, Dapog Method

Options :

92090661981. 1
92090661982. 2
92090661983. 3
92090661984. 4

Question Number : 96 Question Id : 92090615688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g a i g fafiE e E
(1) et #=rt fafy (3¢ a= fafa)
(2) R faiy (g3 9 faiy)

(3) Surfafy
(4) el F@r fafy, sss w=d fafy s Samfaty
Options :

92090661981. 1
92090661982. 2
92090661983. 3
92090661984. 4

Question Number : 97 Question Id : 92090615689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : Global warming results due to anthropogenic progress
leading to climate change.

Statement—Il : Sudden rise in atmospheric and ground surface air
temperature are result of global warming.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct

2. Both Statement—I| and Statement—I| are incorrect

3. Statement—I is correct but Statement—I| is incorrect

4. Statement—I is incorrect but Statement—Il is correct
Options :

92090661985. 1
92090661986. 2
92090661987. 3
92090661988. 4

Question Number : 97 Question Id : 92090615689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21w few o E

FY4 () . dfvas 39 gma i fowm nfdfafimi & & w 2 foed Sy ofda =@
wE

F4 (I) : TgAsed 3 i a8 & 919 999F § EHE ded divas 391 &
qioTe =E 2 |

IEF FUH + Hed ¥ A g7 7 fomedi § ¥ 9e@ I9gE I g0 |
(1) =y (1) 3R (D) < w2 |

(2) = (1) 3 (11) TF1 Ted & |

(3) = (1) 9l 8, Toq &2 (1) Ted & |

(4) = () Toa &, T H9A (1) 981 & |

Options :
92090661985. 1
92090661986. 2



92090661987. 3
92090661988. 4

Question Number : 98 Question Id : 92090615690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Benefit sharing concept is a core objective in
A.  Agriculture
B. Joint Forest Management
C. Sustainable Forest Management
D.

Community Forestry

Choose the correct answer from the options given below :

1. Aonly

2. BandC only

3. Bonly

4. Donly
Options :

92090661989. 1
92090661990. 2
92090661991. 3
92090661992. 4

Question Number : 98 Question Id : 92090615690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y I T H 1 HodaT HEH T T 3699 87
(A) i

(B) ©ga 94 TaE Hl

(C) YR =9 Je-4 =

(D) HHEaS ST &1

Hi= feir 72 faweat 9 © wd 3w giw

(1) == (A) (2) (B) 3 (C) gHi

(3) <= (B) (4) =Ha= (D)
Options :

92090661989. 1
92090661990. 2
92090661991. 3
92090661992. 4

Question Number : 99 Question Id : 92090615691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List=II :

List— List—II
(A) | Largest tree bearing fruit (I) | Ceiba pentandra (Kapok)
(B) | Biggest buttressed tree (Il) | Bambusa arundinacea
(C) | Biggest leaf (l1) | Teak
(D) | Tallest grass (IV) | Jack fruits

Choose the correct option from those given below :
1. (AIV); (B)=(ll); (C)-(I1); (D)~(1)
2. (A-(); (B)=(I); (C}-(IV): (D)~(1)
3. (AHIV) (B)=(1): (C)=(l); (D)—(IT)

4. (AMD): (BIIV); (C)=(I1); (D)1

Options :
92090661993. 1
92090661994. 2



92090661995. 3
92090661996. 4

Question Number : 99 Question Id : 92090615691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 11 gt 11 & gafera $ifaw |

il o=t 11
(A) o€ =1 Bl 1T 99 (I) @1 927 (F41)
(B) @@ = T¥d (d¢H) aren 3@ (IT) &FET IBETHIEaT
(C) ==" ==t T (IIT) =i (Ee)
(D) = = =™ (IV) #eea
Hi= feir 7 faweat 8 & = 3w g

(1)  (A)-IV); (BIID):; (C)-(1I); (D)—T)
(2)  (A-IID; (B)II); (C)~IV); MDD
(3)  (AV): (B)I); (C)IIL); (D)IAII)
(4)  (AD): (B)AIV); (C)—(11); (D)—(I1I)

Options :

92090661993. 1
92090661994. 2
92090661995. 3
92090661996. 4

Question Number : 100 Question Id : 92090615692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| :  The biotic community is always dynamic undergoing changes
with the passage of time.

Statement—Il :  The process of changing community in a definite sequence in
an area refers as succession

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement—I and Statement—I| are correct
2. Both Statement—I and Statement—I| are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—I is incorrect but Statement—II| is correct

Options :

92090661997. 1
92090661998. 2
92090661999. 3
92090662000. 4

Question Number : 100 Question Id : 92090615692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 Y e T E

Fu (1) :  ofa 5qgE Hea Tiadi gl 2 foed @93 & |1y i &d @ 2 |

F94 (1) : v &3 § v Hfvaa &5 § 5eE § giEdq i T S e Fe =5 2 |
I FUA F Hed ¥ A o 7 fawedi § § we9 39gE I 9

(1) % (D) 3 (1) g1 &8 £ |

(2) & (D) 3 (1) SH e 2 |

(3) A (I) @l B, 9 %o (I0) e 2 |

(4) A (1) Terd 2, wg %o (D) é 2 |

Options :

92090661997. 1
92090661998. 2
92090661999. 3
92090662000. 4



